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You have taken 3 LCQ's. On has been
dropped.Once we get to 6, a second
LCQ will be dropped, etc.

HW Questions .
Just pick up the
solutions and check
& learn !
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2-74. See graphs at right.

a: stretched parabola, vertex (0, 5)
b: inverted parabola, vertex (3, —7)

2-75. a:x=%5 b:x=i\/ﬁ
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Now the ranqe-

o eac

You are about to make transformations with
each function

|. Sketch first
2. Next to each sketch, write the
function

[Think first..... GDC later if you need it at all]
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Perform each transformation, all on the same
large sketch.

1. Translate 4 left, up 6

2. Translate 5 right with
negative orientation.

3. Vertical Stretch by 2
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1. Translate 4 left, up 6

2. Translate 5 right with
negative orientation.

| et
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NOTES

lof's summarte-

One general way of writing an equation for a
parabola is to use graphing form:

4=x" gz a e ek

With your group, write the general equation
for both of today's functions below your graphs
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Assignment:
2 -....81-82, 84bd, 85, 86ac, 88, 90,92




